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Topic:- CDP_P2_CTET

1)
Assertion (A) : While most children begin to shed their milk teeth at about six years of age, a
child doing so at five or seven is not considered “abnormal’.

Reason (R) : Through the patterns of growth and sequence of physical development is universal,
there is a considerable range of individual differences.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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1[Q1t1<[9;tit<?n |I|; =132 : ]][Question Description = S9_CDP_Q001]

2. 2 [option D = 122]

3. 3 [Option ID = 123]
4. 4 [Option ID = 124]
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2)
Which principles states that each child develops at her own rate even though the direction of
development is similar ?

(1) Principle of Cephalocaudal development
)

(3) Principle of Uniformity
(4) Principle of Individualilty

Principle of Proximo-distal development
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[Question ID = 32][Question Description = S9_CDP_Q002]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3 Which of the following is NOT an important secondary agency of socialization ?
(1) Family

(2) Media
(3) School
(4) Peers
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[Question ID = 33][Question Description = S9_CDP_Q003]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4)

In children can reason not just with objects but with formally stated propositions.
(1) sensori-motor stage

(2) pre-operational stage

(3) concrete operational

(4) formal operational
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[Question ID = 34][Question Description = S9_CDP_Q004]



1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]
5)

According to Piaget, which is the correct sequence of stage of cognitive development beginning
from the birth ?

(1) Sensory Experience, Reversible Mental Operation, Hypothetical Thinking, Symbolic and
Intuitive Thoughts

(2) Sensory Experience, Symbolic and Intuitive Thoughts, Reversible Mental Operation,
Hypothetical Thinking

(3) Symbolic and Intuitive Thoughts, Hypothetical Thinking, Sensory Experience, Reversible
Mental Operation

(4) Reversible Mental Operation, Hypothetical Thinking, Symbolic and Intuitive
Thoughts, Sensory Experiences
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[Question ID = 35][Question Description = S9_CDP_Q005]

1. 1 [Option ID = 137]

2. 2 [Option ID = 138]

3. 3 [Option ID = 139]

4. 4 [Option ID = 140]

6)
According to Jean Piaget in order for cognitive development to take place effectively a child :
(1) should undergo second order conditioning,.

(2) should be rewarded for every task.

(3) should be given opportunities for active exploration.

(4)

4) should be given repeated tasks for drill and practice.
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[Question ID = 36][Question Description = S9_CDP_Q006]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7)



In Kohlberg's of moral development - what is good or bad is determined by the
consequences of obeying or disobeying rules ?

(1) Pre-operational level

(2) Pre-conventional level
(3) conventional level
(4) Postconventional level
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[Question ID = 37][Question Description = S9_CDP_Q007]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

®  According to Vygotsky, children learn through their peers.

(1) Social interaction with
) Competiton with

) Physically fighting with
) making fun of
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[Question ID = 38][Question Description = S9_CDP_Q008]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

? In Lev Vygotsky's theory the idea of scaffolding means that :

(1)  the adults reduce the complexity of the task and make it very easy.
(2) the adults vary the amount and nature of assistance.

(3) the adults do not offer any support to the child.

(4) the adults provide a variety of rewards to children.



&9 AT  THgr % S8R 'ue’ % = a9 g7

(1) aI%hi 1 FE &1 ST & FH Fh 3¢ 988 9Lel FM |
(2) SFEh] 61 HEG I YRR ° HET H Sead il |

(3) =AEH 1 A==l I Tl Y T HEE 7 <1

(4) TEER] %1 el 1 fafie YRR % A g

[Question ID = 39][Question Description = S9_CDP_Q009]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

19 In a progressive classroom :
exams are held only at the end of the year determine the teaching-learning
children are respected and teachers have trust in the capacity of each child

(1)
(2)
(3) standardized and uniform curriculum is followed for all children
(4) pedagogy is rigid and teacher-centric

ek WTeiiel el o

(1) Hei-dem F g ¥ fou aftert Foae ara & ofa o o s #)

(2) @=ai &1 Her fan S @ AR el o R a=a ) e § favars g
(3) TUHEW F HHIFHA A=Al F Ao fwA e F

(4) Tomemomes st 9 femk-hfed g 2|

[Question ID = 40][Question Description = S9_CDP_Q010]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11)

Individuals having high possess the ability to classify natural forms such as animal
and plant species and rocks and mountain types.

(1) Naturalistic intelligence

(2) Linguistic intelligence
(3) Musical intelligence
(4) Intrapersonal intelligence
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[Question ID = 41][Question Description = S9_CDP_Q011]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)
The statement that society determines the role of male, female and other genders articulates gender

(1) a genetic concept

(2) a physical construct

(3) a social construct

(4) a hereditary endowment
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1[Q1L1<[9;tit<?n |I|; =1¢l:;]][Question Description = S9_CDP_Q012]

2. 2 [Option D = 166]

3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)
Assertion (A) : Teachers should emphasise on using and implementing standardized curriculum
and assessment methods.

Reason(R) : Schools should work towards removing individual differences among children
rather than accepting them.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 43][Question Description = S9_CDP_Q013]



1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

) Assessment should NOT be undertaken :

(1) To find out the readiness levels of children for learning
(2) To improve the processes of teaching-learning
(3) To inculcate competitive spirit among children
(4)

4 To help understand what the child can and cannot do
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[Question ID = 44][Question Description = S9_CDP_Q014]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15)

To provide constructive feedback to the students on their learning and reflect on their own pedagogy,
the teachers should :

(1) Use summative assessment

(2) Use formative assessment
(3) Focus on scholastic aspects only
(4) Focus on use of paper-pencil objective type testing only
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[Question ID = 45][Question Description = S9_CDP_Q015]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]



16)

characterizes an inclusive school set up :

=

Questioning exclusion
Accepting labelling
Endorsing segregation
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Promoting stigmatization
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[Question ID = 46][Question Description = S9_CDP_Q016]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)

It is important to include children from disadvantaged and deprived backgrounds in the classroom
discussion because :

These children are to be pitied and we should adopt a sympathetic attitude towards them.
Every child has a right to education and the teacher should involve all the children irrespective
of their socio-economic cultural and religious context.

Such children do not have any potential to learn.
These children are ‘sl-upid’ and should not be allowed to mix with other children.
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[Question ID = 47][Question Description = S9_CDP_Q017]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)



A Child has difficulty in distinguishing words such as “WAS” and 'SAW’, ‘BATTLE’ and
‘BOTTLE'. Such a difficulty is a typical identifying characteristic of :

(1) Dysgraphia
(2) Dyscalculia
(3) Dysaphasia
(4) Dyslexia
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[Question ID = 48][Question Description = S9_CDP_Q018]
1. 1 [Option ID = 189]

2. 2 [Option ID = 190]

3. 3 [Option ID = 191]

4. 4 [Option ID = 192]

19)

Which of the following are effective accommodations in the classroom environment as per the
needs of students with partial hearing loss ?

(i) allow them to seat near the teacher
(ii) minimize background noise
(iii) use lecture method

(iv) Give handouts using graphic organizers and mind maps

(1) (@) (i) (i)

(2) () (i) (i) (iv)
(3) () (i)

(4) (1) (i)
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[Question ID = 49][Question Description = S9_CDP_Q019]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20) A teacher can foster creativity in her students by :

(1) Encouraging multiple ideas and intuitive guesses

(2) Promoting mere reproduction of information

(3) Repeated drill and practice

(4) Ensuring that the teacher has absolute control over the children’s learning
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[Question ID = 50][Question Description = S9_CDP_Q020]

1. 1 [Option ID = 197]

2. 2 [Option ID = 198]

3. 3 [Option ID = 199]

4. 4 [Option ID = 200]

2 Teacher should encourage rather than
(1) Intrinsic motivation ; extrinsic motivation
(2) Competition ; co-operation
(3) Performance-oriented goals ; mastery
(4)

Failure accepting goals ; failure aviodance goals
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[Question ID = 51][Question Description = S9_CDP_Q021]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

)
)

22) Which of the following emotions hinders the process of meaningful learning ?
(1) Boredom
Enjoyment

(2)
(3) Happiness
(4) Pride
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[Question ID = 52][Question Description = S9_CDP_Q022]
1. 1 [Option ID = 205]

2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

23 Students who exhibit ‘learned helplessness” :
(1) believe that ability is fixed and stable.

(2) believe that ability is incremental - improvable with effort.
(3) are mastery - oriented learners.
(4) set learning - oriented goals.
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[Question ID = 53][Question Description = S9_CDP_Q023]
1. 1 [Option ID = 209]

2. 2 [Option ID = 210]

3. 3 [Option ID = 211]

4. 4 [Option ID = 212]

24)

What the child learns, how well she learns it and how she is able to apply that learning to various
situations depends on :

(1) Opportunities she has to observe and interact with objects and people
(2) Opportunities the teacher provides for memorization and recall

(3) The kind of punishment she is given to ensure learning

(4) The variety of materialistic rewards she is offered to complete the tasks
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[Question ID = 54][Question Description = S9_CDP_Q024]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]
25)
Thinking about one’s own thinking is known as and is a ability.
(1) adaptation ; lower order
adaptation ; higher order

(2)
(3) metacognition ; lower order
(4)

4) metacognition ; higher order
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[Question ID = 55][Question Description = S9_CDP_Q025]
1. 1 [Option ID = 217]

2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]
26) How can a teacher facilitate learning in a constructivist classroom ?
(1) By asking children to do repeated drill and practice
(2) By punishing the children who seem disinterested
(3) By making the process of teaching learning interesting and interactive
(4) By dictating the answers to the questions in the textbook
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[Question ID = 56][Question Description = S9_CDP_Q026]



1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)

Assertion (A) : The primary role of a teacher in middle school classroom is to transmit knowledge
and correct wrong answers of the students.

Reason (R) : Learning is a process of acquisition of facts that take place through drill and
repeated practice.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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1[Q:J<[e;£itci>or:1 |I|; =252:]][Question Description = S9_CDP_Q027]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)  Which of the following strategies are helpful in facilitating meaningful learning ?
(i) Explaining to a peer
i) Making concept maps

(

(iii) Using imageries and creating flowcharts
(iv) Thinking of examples and non-examples
(

v)  Self-questioning

(1) (i) () (iv)

(2) @ () (iv)

(3) (1) (i) (iii) (iv)
(4) () (i) (i) (@v) (v)
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[Question ID = 58][Question Description = S9_CDP_Q028]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29)

Neha is always concerned on getting more marks than Rashmi so that she can show her superiority
to Rashmi. What kind of goals is Neha setting ?

(1) intrinsic motivation driven goals
(2) learning goals

(3) mastery goals

(4) performance goals
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[Question ID = 59][Question Description = S9_CDP_Q029]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

300 Tn a socio-constructivist classroom, children’s learning should NOT be influenced by :

(1) Activities in the classroom

(2) From the content given in the curriculum and books
(3) Interaction with peer groups

(4) Marks and scores obtained by friends
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[Question ID = 60][Question Description = S9_CDP_Q030]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- MATH_P2_CTET

" The least number which must be added to 5774 to make it a perfect square is :

(1) 1
2) 2
3) 5
@4 7

5774 § SISl S arel! e g Ge, el 78 ush i af a9 s, frefafed @

1 1
(2) 2
3 5
4) 7

[Question ID = 61][Question Description = S9_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2 A four - digit number 153 is a multiple of 3. The sum of all the possible values of y is:

(1) 3
2 9
3) 12
4) 18
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2) 9
3) 12
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[Question ID = 62][Question Description = S9_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]



3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3 The value of 3.5%2.4x48 is :

1004
() 55
1008
2 55
5002
®) 5
5004
@ 5

3.5%2.4x4.8 % HT © :

1004
S
1008
@ 5
5002
G 75
5004
® 5

[Question ID = 63][Question Description = S9_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

Y Additive inverse of 273 x (=718
(1) —2744
(2) 2744
B
() 2744
1

@ T



273 x (=7)"3 H 99 gfdm ©

(1) —2744
2) 2744
L
®) 7a

o

@ " m

[Question ID = 64][Question Description = S9_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5)

If x and y are respectively the HCF and LCM of 135, 108 and 198, then the value of = is:

Y
(1) 660
(2) 330
1
®) 33
1
@ Z0

afz x 3l y O 135, 108 3 198 & HCF sfR LoM &, @ = sam &
1

y
(1) 660
(2) 330
1
)  33p
1
@ e

[Question ID = 65][Question Description = S9_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



6)

If p= % ’y and q=3xy—5xy* then pq+2r’y? is equal to :
W) 3 - 5 P
o Sayp Sy
@) 3 - 2y
() g ¥y — % 2
afg p=% x‘?y g aen q=3xy—5x3y4 g p-(;[+21'3y2 FH B
(1) % Y - ; Xy
o Seypo Sy
(3) ;xf’yz _ g By
(4) gISHS _ g 2

[Question ID = 66][Question Description = S9_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7 (x +22)% — 162 is equal to :
(1) (Bx+2z) (dx—2z)
(2) (Ox+2z) (2z—3%)
3) Ba+2z) (22— 5x)
(4) (Bx+22) (2z2—3x)

(x

(1) (

(2) (5.1 +2z) (2z—3x)
(3) (B3x+2z) (2z—5%)
(4) (3x+22) (22—3x)

[Question ID = 67][Question Description = S9_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]



4. 4 [Option ID = 268]

8)
16x 7x
The solution of the equation x+7 — e 2= 3 is also the solution of the equation :

—t

2x—10=5
S5x+4 =—-26
3x—7=25
2x+15=4

T
et £ |
T v T T

16x T
GTlﬁEF{“T.r+7—T=12—“2— @1 B Trafafiaa gt =1 ot 2a1 © -
2¢—10=5
S5¢+4 =—26
3x —7="125
2x +15=4

3

(
(
(

=

(B]
B .

e

(

[Question ID = 68][Question Description = S9_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9)

A shopkeeper purchased two tables for a total of ¥ 9000 and marked the price of each
table at ¥ 5000. If he sold each table at a discount of 2%, then his gain or loss in the whole
transaction 1is :

(1) 400 loss

(2) 400 gain
(3) < 800 loss
(4) T 800 gain

TohHl gFMeR 9 &1 7S %l T 9000 H Wlal a1 3799 H Yedsh WSl 1 Jed T 5000 sifera feman)
AfE 7% Yo B 1 2% I PE SR T §, DY W H SEem Ay e ¥

(1) = T 400

(2) @ T 400

(3) @I T 800

(4) @ T 800
[Question ID = 69][Question Description = S9_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 273]

2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]



"9 If 5ym 4222+ 3x is a binomial, then possible value(s) of m can be :

(1) Only 3
(2) Only?2
(3) Only1

(4) Both (1) and (2)

Ffa 5ym + 202 + 3y T 598 &, T m =/F G9a 97 8 Fha() 2732 -

(1) 9 3
(2) FEd 2
(3) a1

4) (1) R (2) <H

[Question ID = 70][Question Description = S9_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

") If PQRS is a thombus in which ZPSR=7(°, then 2/PQR +3/SPR is equal to :
(1) 325°
(2) 305°
3) 320°
4) 315°

PQRS U% 999q4 €, fsed £PSR=70° &1 &9, 2£/PQR +3/SPR sR&X & :

(1) 325°
(2) 305°
(3)  320°
(4) 315°

[Question ID = 71][Question Description = S9_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

'2) Which of the following figures has linear symmetry but no rotational symmetry ?

(1) Circle

(2) Rhombus
(3) Rectangle
(4) Kite



fopeiferfiad & & g st A Yaes wufuf & vig 91 o gafify =& &2
1) 39

(2) FHEYS
(3) &ATHE
(4) &

[Question ID = 72][Question Description = S9_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13)

The two interior opposite angles corresponding to an exterior angle 140° of a triangle are
60° and x. Then, value of 3x+20° is ;

(1) 200°
(2) 230°
(3) 240°
4) 260°

el IS o U afeshivl 140° & H4 11 SA99@ 3id: I 60° 3 x €1 a9, 3x+20° F A
g

(1) 200°
2) 230°
(3) 240°
(4) 260°

[Question ID = 73][Question Description = S9_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14)

Two corresponding angles formed by the intersection of two parallel lines by a transversal
are x and 70°. Then, the value of 4x —30° is :

(1) 440°

(2) 410°
(3) 280°
(4) 250°



a1 gHaL Y@ i Tk fode e g yfasse e § 99 €)1 Gid R v 3R 70° €1 99, 4 —30°
FIHA T :

(1) 440°
(2) 410°
(3) 280°
(4) 250°

[Question ID = 74][Question Description = S9_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15)

Points P and S lie on the same side of line segment QR such that PQ=5R and PR=5Q.
Then, which of the following is true ?

(1) APQR = ASQR

(2) APQR = ASRQ
(3) APQR = ARQS
(4) APQR = AQRS

fig P iR S Y@rde QR ¥ UF € 31X 39 ¥R feom € fF PQ=SR 3K PR=5Q &I 9,
frefafea § - T &2

(1) APQR = ASQR

(2) APQR = ASRQ

(3) APQR = ARQS

(4) APQR = AQRS

[Question ID = 75][Question Description = S9_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16)
The cost of fencing a circular field at the rate of ¥ 5 per meter is T 440. Then, the area of

the field(in m?) is (Use ™= 2—?2] :

(1) 308
2) 616
(3) 924
(4) 1232



el IR ©d 9T T 5 Ufd Hied sl &1 9§ 918 @ ohl @FTd T 440 T @4, 39 WA H &ARA
- 22 :
(m? ) ¥ (11'=?Fﬂﬁm}.

(1) 308
2) 616
(3) 924
4) 1232

[Question ID = 76][Question Description = S9_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

17)

The area of a square is equal to the area of a rectangle of length 18 cm. If the length of the
diagonal of the square is 12 cm, then the perimeter of the rectangle is :

(I) 88 cm
(2) 66 cm
(3) 44 cm
(4) 22cm

fordl 7 T 4% 18 cm THE dTel U 37140 & &9%d & el ¢ | I 39 o o fawof =t
e 12 cm B, 1 39d 1 9HT © :

(I) 88 cm
(2) 66 cm
(3) 44 cm
(4) 2 cm

[Question ID = 77][Question Description = S9_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

18) If the surface area of a cube is 1176 m2, then the volume of the cube is :
(1) 2744 m?
(2) 2644 m°

(3) 2474 m’
4) 2464 m?



Ife forddt 59 1 YSIT S%et 1176 m2 &, 1 39 99 1 370 #
(1) 2744 m?

(2) 2644 m?
(3) 2474 m3
(4) 2464 m’

[Question ID = 78][Question Description = S9_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

19)

A box contains some slips on which numbers 15, 16, 17, . . . , 49, 50, 51 are written (one
number on one slip). A slip is taken out from the box at random. What is the probability
that the selected slip bears a number divisible by 2 or 3 ?

24
1 35
25
2 3¢
24
) 3z
25
(4) 37

ot fesat § o wf=ml vt g8 €, fo W 9=t 15,16, 17, ... ., 49, 50, 51 foret g2 €1 (weh v
™ U HeN) 3 fes 9 uw udHl aefos ®u 9 e S g1 g6 g8 U W
2 91 3 § favms den sifed &9 ot miEsa w0 &2

24
M 35
25
(2) 3¢
24
G 37
25
@) 37

[Question ID = 79][Question Description = S9_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

20)



The mean of the range and the median of the observations 13, 21, 17, 12, 15, 19, 19, 12, 20,

25 and 17 is :
(1) 15

(2) 16

(3) 15.5

(4) 16.5

e 13, 21, 17, 12, 15, 19, 19, 12, 20, 25 3R 17 & 9T X q1es &1 91 ¢

S N
—

LE S )

)
)
)
)

L=

(

15
16
15.5
16.5

[Question ID = 80][Question Description = S9_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)

The most appropriate illustration of an activity based approach to introduce Euler’s formula
related to solid shapes is :

(1)
(2)

(3)
(4)

Using a powerpoint presentation with animated videos about solid shapes

Telling students to tabulate the information about number of vertices, edges etc.
using real solid shapes and explore the formula

Explaining the formula and giving worksheets to students to be completed at home
Asking the students to find about Euler’s formula at home using internet

319 SRl ¥ Hefka siider % g3l %1 uit=a &9 % fou us frameremy-snenfia s 1 gad
ST IATE B

&r]

(3)
(4)

31 sTeRfadl & Sfed (UAmfes) difed % qfavarEe TEgareton &1 STEr HE
fernfei=i =1 arsifos S/ ATHaA] =1 3TART FL 96l 9 fFAn =1 He, sofe & faw o
YA 1 GRVEg T TF Gl i @S i o fere s

I3 i AR H, faEntdet 1wt (F6Eie) =W I8 1 F fow g

S T IYANT &L foranfelal =1 SEer & 9o & faw | 3 i & fog e

[Question ID = 81][Question Description = S9_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



A teacher makes the following symbolic representation on the blackboard in a 6! grade
math class.

+5=34
Which of the following concepts is least appropriate to be taught using the above model ?
(1) Transposition

(2) Algebraic variables like x, Iy, a etc
(3) Linear equations
(4) Algebraic expressions

T foreres e VI H vamye w Frerfafed s e em m ©
+5=34
fr=fafea saaromel § 9 $9 W saurn SwWE YfaaH % S9E g1 Yel S F fag ged
T I © 7
(1) &
(2) Eﬁﬁiﬁﬂ?”\%@x,y,amﬁi
(3) “tfiEes T
(4) sy =S

[Question ID = 82][Question Description = S9_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

23)

Which of the following is the most important prerequisite knowledge required for students
to construct a pie chart for a given set of data ?

(1) Measures of central tendencies

(2) Frequency distribution

(3) Ratio, proportion and angle measures
(4) Bar graph

feu 7T SAlhSl & FH=E F1 UL IR (pie chart) I % fou fanf & fou frafafas § 9
FHIF-H qAd e FH HoH qewyui 8/

(1) fea vaft % |m

(2) SIS s

(3) UM, THEI 3R 0 % HY

(4) FR-UTH

[Question ID = 83][Question Description = S9_Maths Content/Pedagogy_Q053]

2. 2 [opion 0 - 330

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]



24 To build conceptual understanding among students in mathematics a teacher should :

(1) List all the concepts on the blackboard
(2)  Ask children to draw conceptual maps
(3) Give a number of questions to practice

(4) Make linkages between the conceptual and the procedural knowledge

wfore |, faenfefai § emumoners w0 o1 fam & & fau, foedt foess =t .
(1) TAMIE T H FATURONSA] 1 G S A6

(2) Sl ] ATIRONCHF HHAT= 21 T5=01 T % {0 e ey

(3) FHE o feAw =% yed 39 =ifey

(4) YRV Ud HEEEF I9 & o= H6Y g9 FMeg

[Question ID = 84][Question Description = S9_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

) Which of the following is/are open-ended problems ?

(A) Draw a rectangle whose area is 36 cm?
(B) Write 10 multiples of 2 and 3

(C) Write all even numbers up to 20
Choose the correct option.

(1) (A) and (B)

(2)  Only (A)
(3) (B) and (©)
(4)  Only (C)

freaferfed 5 @ b @ gt fo aref e 2/272
(A) T I I STHHT G5F 36 cm? &
(B) 233 & 5w o fafae

(C) 20 7= §ft 5 Hemsi 1 fafay

W Ty =1 =9 ifsu

(1) (&) 3R (B)

A (A)

(2)
(3) (B) ¥R (C)
(4) FaE Q)

[Question ID = 85][Question Description = S9_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]



4. 4 [Option ID = 340]

26)

While teaching, a class VII Mathematics teacher presented a problem that was likely to
initiate disagreement among the students. He did so to:

(A) Use discussion as a pedagogic tool in his mathematics class

(B) Encourage the shy students to speak

(C) Help students to realize that in mathematics there could be disagreements
(D) See which students were more attentive to his instructions

Choose the correct option.

(1)  Only (D)
(2) (B) and (D)
(3) (A) and (C)
(4) Only (B)

W VII % 70 & ek e 3 oo o gu v yed geg feren fored faenfefdi # sraeafa
YRY B 1 WIS 8] Gehd] €| 3= T R #ife

(A) =% T ot STOHT el B == w1 U faon yonedt % w9 § W 9| §
(B) o wiiet famnfeiai &1 siem & fore viefed R w €

(C) e faenfel=i =1 = swemme U1 =red § fo wifora # swyenfaat & wewd 8
(D) % I8 <& 9red € foF @i 3 famnefl 57 el & foe sifus god €

W& T &1 =5 Hifag

(1) %4 (D)

(2) (B) ¥R (D)

(3) (A) ¥R ()

(4) FF (B)

[Question ID = 86][Question Description = S9_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



) Which of the following are the methods of mathematical reasoning ?

(A) Empirical reasoning

(B) Syllogism

(C) Observational reasoning
(D) Logical reasoning
Choose the correct option

(1)  (B) and (C)

(2)  (© and (D)
(3)  (B) and (D)
(4) (A)and (O

Frfafaa 9 9 %[ = i foes=m/awm s qome € ?
(A) HfEs fae=m

(B) Trmfts ek
(C) EaERAcHSE ferer=m
(D) weRETd fas=
&l fasey 1 997 Hifau|

(1) (B) ¥ (©

(2) (©) &R (D)

(3) (B) ¥ (D)

(4) (A) ¥R (Q)
[Question ID = 87][Question Description = S9_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

28)

According to NCERT, which of the following is NOT a part of mathematics curriculum
at secondary level ?

(1) Algebra

(2) Probability
(3) Trigonometry
(4) Calculus



NCERT % &R Frefefad § § w7 g1 weafies @ @ 1foe qres=ral 1 ony =768 &2

(1) =i
(2)  wrfEreRdr
(3) TremroTa

(4) e (FoFed)

[Question ID = 88][Question Description = S9_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

29)

Which among the following teaching-learning resources CANNOT be used for Visually-
challenged students in a mathematics classroom ?

(1) Tactile Tiles

(2) Computer
(3) Geogebra
(4) Abacus

Tfore o) e, gfe-aifyg farnfeli & fou, fefafaa § =5 ar foeor-sifam garE swEm
T & A S Gehdl /7

(1) oo e
(2) FAH

(3) T

(4) FEHH

[Question ID = 89][Question Description = S9_Maths Content/Pedagogy_Q059]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

30 ; : ;
) What are conjectures in mathematics ?

(1) A mathematical statement

(2) A mathematical proposition that is already proved
(3) A mathematical theorem
(4)

4) A mathematical statement that is yet to be proved



TfoTe H SHererer 1 € 2
(1) W o oA
(2) U TfoRTT wEare o et & fas R s g §
(3) WF TS gHA
(4) U o weuE R endt a% fag T e T ¥

[Question ID = 90][Question Description = S9_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- SCIENCE_P2_CTET

1)

A are blood vessels which carry blood from all parts to heart. This blood is rich in B. These
blood vessels have C walls.

A, B and C are respectively :
(1) Arteries, oxygen, thick

(2) Arteries, oxygen, thin
(3) Veins, carbon dioxide, thick
(4) Veins, carbon dioxide, thin

A T STy & S weft 3t O ged o 1o 98 1 € | 98 19 B U H9S § 1 59 1o aifesiet
C fufemr &
A, B3R CHHI: @ :
(1) =L siedsH, Je
(2) =mfE], sifEdeE, Tae
(3) TR, FEA SEsifEEs, T
(4) TR, FEF SRARIEE, daet
[Question ID = 91][Question Description = S9_Science_Q061]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]

3. 3 [Option ID = 363]
4. 4 [Option ID = 364]



2)

Identify the following :

Substance Mode of storage in lab
A in kerosene

B in glass bottle

C under water

D in plastic bottle

(1) A-Sodium, B-Sodium hydroxide pellets, C-Phosphorus, D-Mercury
(2) A-Phosphorus, B-Mercury, C-Sodium, D-Sodium hydroxide pellets
(3) A-Sodium, B-Mercury, C-Phosphorus, D-Sodium hydroxide pellets
(4)  A-Phosphorus, B-Mercury, C-Sodium, D-Sodium hydroxide

Tfafadg &1 gg9r hifs ;

e wRrTer H sfero i fafy

A [ERUEER]

B i &I o o

C EEiERIGL

D wIfEzes i it F

(1)  A-=hfezm, B-Sifeay eegiwmee fedn, C-FFRRE, D-IRI

(2) A-BIERRE, B-9RI, C-Hifgqw, D-difeH gEeiFrEe s

(3) A-Hifead, B-9M, C-HEHE, D-HISHH BEEEEEe e

(4)  A-TRIERIH, B-9WI, C-HifedH, D-Hifedd gEgivrEe

[Question ID = 92][Question Description = S9_Science_Q062]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3)

Xis a digest-ive juite in human beings which does not contain any enzymes.
X 1s:

(1) Pancreatic juice
(2) Bile juice

(3) Gastric juice

(4) Salivary juice

A4l § X U g @ & T i w9 aen |
R

P L S
He

= I

AT T
oo ™
iy ™
@R T

Ll e



[Question ID = 93][Question Description = S9_Science_Q063]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4 ; : :
) Sunita wants to buy a container to store mango pickle. She should buy a:

(I)  steel container as steel does not rust

(2) plastic container as it is inexpensive
(3) glass container as it does not react
(4) tin container as it does not react

GiaT 39 F STER o R F o v ur Sl =edt € |39 S =
(1) e = 9= iR whe WS 8 @

(2) eI 1 U i 98w §

(3) @hid %1 T Hiifer a7 Afuferan 78 Ha

(4) feA =1 U= Hifw 7w S 78+

[Question ID = 94][Question Description = S9_Science_Q064]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

) Which of the following are characteristic or adaptation features of trees in mountains ?

k-

long penetrating roots

=

needle like leaves

e

sloping branches

g0

(

(

(D) waxy, thick stem

(E) leaves with waxy coating
(1) (A), (B), (D)

(2) (B) and (C)

(3) (B), (©), (D)

(4) (A)and ()



Frefafaa § & #17 vaal & TSi/gel & afvea a1 siger aa € |
(A) sl ser ST

(B) WS St ufwar
(C) =zaal zgfat
(D) HH, Hi2l

(E) Hrg = WR=a % 9y ufear
(1) (A), (B) 3X (D)
(2) (B) ¥R (©)
(3) (B), (©) ¥R (D)
4 (A &R (©)
1[.Q1u<[e;;it(i)0r:1 |I|; :397573]][Question Description = S9_Science_Q065]
2. 2 [Option ID = 378]

3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

®) Which of the following processes do not involve chemical changes :
(A) Dissolving sugar into milk

(B)- Setting milk into curd

(©) Making butter milk from curd
(D) Making cottage cheese from milk
(1) (A) and (B)

(2)  (A)and (©)

(3) (C) and (D)

(4) (B) and (D)

frefafea § @ #F 9 genl § vt afieds fHfea 7@ € 2
(A) 7Y H FH drem

(B) TH T SHMI

(C) &I I TS I

(D) " ¥ TR FAM

(1) (A) 3R (B)
(2 (A)aﬂ?f)
(3) (© RO
(4) (B)B?‘MD)

[Question ID = 96][Question Description = S9_Science_Q066]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]



4 In human beings, fraternal twins are formed by :

(1) fertilisation of one egg by one sperm

(2) fertilisation of one egg by two sperms

(3) fertilisation of two eggs by one sperm

(4) fertilisation of two eggs by two sperms
Al H, A4 7H 3= el @

(1) T SBRIY] BRI U 3 & Fu=a 9

(2) < YRR g U g & fiem g

(3) U YR BRI B el & Fu=A |

(4) < YHE R Al Sl o =T g
1[Q:n[e;titgn |||; =3’Z]][Question Description = S9_Science_Q067]
2. 2 [Option ID = 386]

3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8)

Divers wear special suits and carry oxygen cylinder when they go for underwater diving.
The main reason for this is:

(I) The pressure due to water increases as one goes down

(2) The pressure due to water decreases as one goes down
(3) Itis easy to swim with special suits
(4) They do not get wet with special suit

TGN S Siasieid gash! o & 79 o fafire g2 g € i eiedise fafder @g v €1
THH I FRU T

(1) 9 % Sl & e a1 € o9 TeUE F Wiy 5l % g1 9 H gfg A B )
(2) S S Sl o i S S 9 Sl g < H M e

(3) fafore gz & Try & e S ¥

(4) Tafere gz v&d *2 9 s 781 €1

[Question ID = 98][Question Description = S9_Science_Q068]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]



? When ice melts into water, which of the following takes place ?

(1) Heat is added to the system

(2) Heat is removed from the system
(3) Heat is neither added nor removed
(4) Heat is first added and then removed

9 % Toreel 2 St St 8, 99 fetatea 5 @ wE 9 gl 5= S g 2
(1) Terma ® s 1 Hier g 2

(2) T &z = Frere g

(3) 1 A1 A A Bieh & A & Feeied 2 €

(4) T YR AT Bt € SR deqwan Frerfed gt €|

[Question ID = 99][Question Description = S9_Science_Q069]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

9 An electromagnet is :

(1) strong and permanent

(2) strong and temporary
(3) weak and permanent
(4) weak and temporary

(1) vae ug erd
(2) A TH ITEYE
(3)  geiel ue T
(4) o U e

[Question ID = 100][Question Description = S9_Science_Q070]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]



") Match the following:

(A) Concave mirror (i) used for rear view in vehicles
(B) Concave lens (i) wused in microscopes
(C) Convex mirror (iii) wused for near sightedness
(D) Convex lens (iv) wused in torch lights
(1) (A)(i), (B)-(iii), (O)-(v), (D)-(i)
(2)  (A)-(D), (B)-(iv), (C)-(ii), (D)-(iii)
(3)  (A)-(iv), (B)-(iii), (CO)-(1), (D)-(ii)
(4)  (A)(iid), (B)-(iv), (O-(ii), (D)-()
Frefafad =1 gafera sifsg
(A) Edd g4 (i) e § uvd g o fore g
(B) sEdd ©d (i) gewRfEEl | yge
(C) 3 &YW (iii) Tepe gfted % fog =
(D) e ©F (iv) 2/ TR H OEE
(1) (A)-(i), (B)-(iii), (©)-v), (D)-(i)
(2) (A1), B)-(iv), (C)-(i1), (D)-(iii)
(3)  (A)(iv), (B)-(iii), (CO)-(i), (D)-(ii)
(4)  (A)(iid), (B)-(iv), (O)-(ii), (D)-(i)

[Question ID = 101][Question Description = S9_Science_Q071]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12)
In which of the following cases, the line depicting the distance-time graph is parallel to
time axis ?
(1)  Uniform motion

(2) Non-uniform accelerated motion

(3) Uniformly accelerated motion

(4) Object is at rest

Frfafes § 9 frg oftoeT 8, g0-gm & o1 1 Fefug S TE 999 & 919 % 9uHR # |

(1) THEFH Tfd

(2)  sEHHE i il

(3) UHHHF @ Tid

(4) fer/Eg farmmEeen 4 &

[Question ID = 102][Question Description = S9_Science_Q072]
1. 1 [Option ID = 405]



2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

") Which of the following statements is true ?
(A) Onanew moon day, the moon is in between the earth and the sun.
(B) Ona full moon day, the earth is in between the sun and the moon.
(1)  (A) is true and (B) is false.
(2) (A) is false and (B) is true.
(3) Both (A) and (B) are true.
(4) Both (A) and (B) are false.

Freferfiad el & & 0T & -

(A) >HEE HI 7@, T, g R T F F= T
(B) gfofen =t T, geat, g3 o =g & &= ent €
(1) (A) 9 ¥ 3R (B) 319 |

(2) (A) ITHA T i (B) ¥4 &)

(3) (A) 3R (B) T WA £

(4) (A) 3R (B) I 3r5eq €|

[Question ID = 103][Question Description = S9_Science_Q073]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

(E®]

14)

Assertion (A): A fish in a lake appears to be larger and raised to a man standing on the
shore.

Reason (R): The light rays reaching the man from the fish in the water bend away
from the normal.

(1) Both (A) and (R) are true and (R) is the correct explanation for (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation for (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

AfUFHIT (A) 92 W@ o =ufe &) fordlt gitet | wwelt = o 3= 9t wdta 2t %)
ST (R): 1 1 Hel & SR ) SR S € g R aifee @ X ge 9 €
(1) (A) 3 (R) <1 g1 § 3l (A) F (R) FE =& Fad 2

(2) (A) 3R (R) BT 5 § fohg (A) F1 (R) T8 =1@0 T8l & B

(3)

(4)

(A) T & T (R) 597 2|

4)  (A) 3R (R) BT o7 €



[Question ID = 104][Question Description = S9_Science_Q074]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

15 ; : . G :
" The shape of parachute is such that it experiences friction due to air.

(1) maximum
(2) minimum
(3) no

(4) infinite

TR 1 AFRGH YFR F e FFag ag S FRm 591 ol S T B
(1)  SAfeeRdy
(2) A
(3) A
(4) 3T
[Question ID = 105][Question Description = S9_Science_Q075]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]

3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

16)

Goldsmiths blows the A zone of the flame with a metal blow pipe to melt gold. The colour
of this zone is B and it is zone of C combustion.

A, B and C respectively are:

(1) middle zone, blue, partial

(2) outermost, blue, complete

(3) innermost, orange, partial

(4) innermost, orange, complete

T T o e, YR o R el | Saren o A &7 T8 ek W ¥ | 39 & 1 T B ¥ 3R 7w
T C e & B

A, B 3iR C wmwn: ® .

(1) =99 &3, wren, A
(2) e, e, Hyol
(3)  FaRaH, A, ST
(4)  SF=IaH, T, dqof

[Question ID = 106][Question Description = S9_Science_Q076]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]



4. 4 [Option ID = 424]

17)

Metal X displaces metal Y from its salt solution but not able to displace metal Z from its
salt solution. Metal Y displaces metal W from its salt solution. Which of the following
depicts correct order of reactivity of metals ?

1) X>Y>Z>W

(2) Z>X>Y>W
B3) X>Z>Y>W
(4) W>X>Y>Z

HTg Y T Mg X 39 wavig faeem ¥ faeenfua #wa @ g o1g Z 1 39 wavia faeem @
foeenfia =1€1 =X Ol 91g W ol 91g Y SH% @avid foeed | fawenfua =war g1 agsii =i
stfvferamsticiar & @&l %9 &1 fefafea § & s oo e § 2

(1) X>Y>Z>W

(2) Z>X>Y>W
(3) X>Z>Y>W
4 W>X>Y>Z

[Question ID = 107][Question Description = S9_Science_Q077]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

18 L o o 3 e )
" Milk is rich in many vitamins and minerals, except :

(1) Iron, Vitamin-C
(2) Iron, Vitamin-A
(3) Phosphorus, Vitamin-C
(4) Phosphorus, Vitamin-A

gy %3 faerfiel vd wfvsi 4 9gg € faam .
(1) e, faerfas-c &

(2) e, frerfaTA &

(3)  WERRE, faeIfEC @+

(4) HERE, A %

[Question ID = 108][Question Description = S9_Science_Q078]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]



19)

(A_) cell membrane, cell wall, mitochondria, nucleus
(B) cell membrane, vacuole, nucleus, plastids

(C) cell membrane, cell wall, nucleus, mitochondria
(D) cell membrane, nucleus, mitochondria, cytoplasm
(1) (A)

() (B)

(3 (©

4 (D)

frefafed § 4 9 T Sia FITH F FIRERT 1 g9 §72

(A) =HifereR freed, Sifven fufa, gaefe, F=®
(B) ehifvrent fereed], THMT, e, @

(C) =hIfSreRt Tereet!, shiferent fafd, sheaeh, SaeRivmERT
(D) =ifern foAeedl, waeh, GAhIUTER], e 24
D (@A)

(2) (B)

(3 (©

(4) (D)

1[.Q1u?g[t)it?or:] |I|; =413 (3)]9][Question Description = S9_Science_Q079]

2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

20 2 5
) Hormones from A stimulate B to release C in females.

A, B, C respectively are :
(1) thyroid, ovary, estrogen

(2) pituitary, ovary, estrogen
(3) pituitary, uterus, estrogen
(4) thyroid, uterus, estrogen

A Hifad [ B 1 38U ek ol d C wifad #eai 2|
A, B, CHHY: © :

(1) 9PREs, HeSnM, TN

(2 g, sterm, T

(3) g, mufer, T

(4) uEiEs, THNE, TEeH

[Question ID = 110][Question Description = S9_Science_Q080]

Which of the following represents the cell organelles of an animal cell ?



1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

" Which of the following questions is open ended ?

(1) Why are stems of cactus succelent ?

(2) Why potato is a stem ?
(3) List two differences between stem and root.
(4) What would happen if there is no stem ?

fefafea i d FR My g fR 1 8 ?
(1) =" =1 T TeER Fi 21 & 2

(2) ] U o = § 7

(3) O aU g H < faueHl i g sy |
(4) = e Afe et @8 H am A A

[Question ID = 111][Question Description = S9_Science_Q081]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

22)

Which of the following activities is best suited to sensitize the learners regarding water
conservation in gTade VI?

(1) Conducting a slogan writing competition

(2) Asking students to conduct water audit in neighbourhood
(3) Asking students to design a poster
(4) Conduct a debate on the topic

St G o Hed H s VI & et @ dageia aAm % fon frefafee § @ oF 4
oAy Haifrs o &

(1) =R fergd =t g 1 SEeE e

(2) 9E S H 5ol separu o fore fermnfei w1 e

(3) Tornfef=i = vk drew i sifyeRea s & fau e

(4) o ot arg-faame wfqdifrdn &1 sEsH w3

[Question ID = 112][Question Description = S9_Science_Q082]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]



2 Neha, while working with magnets, writes the following statements in her copy :

(A) North-Pole of magnet ‘A" moves away from North-Pole of magnet ‘B’.
(B) Like poles of a magnets repel each other.

(1)  (A) is observation, (B) is inference.

(2) (A) is inference, (B) is observation.

(3) Both (A) and (B) are observations.

(4) Both (A) and (B) are inferences.

T 7 Haehi o 91y FE FLd g A g | Frefafed wue o
(A) FFF A’k 3T Y9 H ga% ‘B’ I I YF gL T Sl 2 |
(B) el o Uk HHM Yd Teh & Il Afdenfud id €|

(1) (A) a@=A g, (B) fepd 21
(2) (A) Frepd & (B) s1E@ieRT ®1
(3) (A) 3R (B) SH 21acir € |

(4) (A) R (B) T Fr €1

[Question ID = 113][Question Description = S9_Science_Q083]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

24)

Assertion (A): Learners’ misconception in many science topics tend to be stable and
resistant to change.
Reason (R): These ideas may draw on more than one scientific concept.

(1) Both (A) and (R) are true and (R) is correct explanation for (A).

(2) Both (A) and (R) are true but (R) is not correct explanation for (A).
(3)  (A) is true but (R) is false.
(4) Both (A) and (R) are false.

Afvrre (A): T o o Tl o foenfeli st st womdt sl gftad fadedt @t €
R (R): 3 TR Uk | Ak faaHl Heheaiedl § 399 g ¢ |
(1) (A) 3R (R) S A & 31 (A) I (R) HEl =I1€ 8|
(2) (A) 3 (R) 31 57 € fohied (A) 3T (R) TET =41 78 ¢
(3) (A) = fofg (R) o793 B
(4) (A) 3R (R) T 379 B
1[Q:J«E=;ti9n |I|; =415 ; ]4][Question Description = S9_Science_Q084]
2. 2 [Option ID = 454]

3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

25)



Which of the following statements is not true in the context of scientific investigations ?

(1) Data and evidence are same

(2) Results are influenced by the procedure
(3) There is no one scientific method
(4) Socio-cultural context of scientist influences conclusions

e e & geof | frafafes § 4 999 o Fm g 98 72
(1)  Siihs T WH01 U T & & |
(2) WU YohH §RI IHITEd 8id B |
(3) T ek Ak fafe =& 2l 81
(4) ST o ATEITSTR-HiEh de HeH-frerl 1 yaifad w5 2
1[Q:Jf;ti9n Illl'-)) =415;]5][Question Description = S9_Science_Q085]
2. 2 [Option ID = 458]

3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

26)

Which of the following statements best describe the difference between a ‘Law’ and a
“Theory” in Science ?

(1) Laws are generalisations whereas theories are explanations.

(2) Laws are named after a scientist whereas theories are not.

(3) Laws are very old whereas theories are modern.

(4) Laws are universal whereas theories are personal and contextual.

faam o ‘fam’ ol ‘fagia’ & =g faded 1 fefafed § 9§ 9 9 sy gaiag 9 9 s
FAT R ?
(1) ‘Frm’ goeie € sEtE fagi smend €

(2) Torm, ot Smfe % 19 W Amifea § s fagi 7@ €
(3) From sgd g € sefr fagia snyfre €1
(4) Trm wefemes € wafe fagia safammd ws grdfmes € |

[Question ID = 116][Question Description = S9_Science_Q086]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]



) Which of the following statements is true regarding Science ?

(A) Science is parsimonious.
(B) Science is skeptical.

(1) (A) is true, (B) is false.
(2) (A) is false, (B) is true.
(3) (A) and (B) are true.

(4) (A) and (B) are false.

foem & e # Frafefad wemt § 9«0 9 872
A) fosm sewsrEd 2

B) foem HerEmE 71

1) (A) 9 g, (B) 379 ¢

2) (A)HA E, (B) §H ®

3) (A) 3R (B) SFi T ¥

(4) (A) 3R (B) T o9 &

— e

[Question ID = 117][Question Description = S9_Science_Q087]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

28)

Which of the following statements reflect contemporary understanding of assessment in
Science ?

(1) Same type of tasks should be given to all students for parity.

(2)  Use of scientific vocabulary should be the most important criteria for assessment.
(3) Process skills should be part of formal assessment.

(4)

Interdisciplinary projects should not be used for assessment in Science.
fo H SR w1 ol FHF w1 Frefafad 3 8 s | s widfsfsd s g2
(1)  HoeRes o fore 9t fomnfel=i =i U & gr &1 &/ <1 =fen |

(2) SR YTSRTEET 1 TN AR o fore ety FHEl 8 =en |

(3) ufern wiwre siraenfier e 1 9 81 =rfee |

(4) Sicfaeht qfEss 1 3wEn faam # sepe & foag =98 g =ifau

[Question ID = 118][Question Description = S9_Science_Q088]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]



29 5 : :
) In order to make Science classroom inclusive, the teacher needs to :

(1) pay more attention to high achievers
(2) allow self paced learning

(3) use standardised curriculum

(4) delete difficult tasks for some learners

o =1 AHTEeT HEl 9H % 3gevd |, e 1 stereaesar g
(1) 3= sanei < faenfefli ov sifirer orm &3 =

(2) ¥ = It Sl A € &

(3) HFHIH TFEFE % ITAM Fi

(4) Fo foefeE % fag s wel #1 s wt

[Question ID = 119][Question Description = S9_Science_Q089]
1. 1 [Option ID = 473]

2. 2 [Option ID = 474]

3. 3 [Option ID = 475]

4. 4 [Option ID = 476]

30)

Which of the following activities is most desirable in explaining the difference between

density and heaviness ?

(1) Explaining the difference between density and heaviness
(2) Defining density operationally

(3) Giving opportunity to handle various objects of different shape, size and material
(4)

4 demonstration using physical balance

e 91 YR9T H faveq ot =are s & fou Fafafaa § 9 &6 91 framram $fq g
g7
(1) =9 a9 9T | ST ki Sl

(2) = ! YR FHA
(3) fafsm smer, A9 i uered =t agedl % WY HE H A STEH S
(4)  iifder detl R We3A Al

[Question ID = 120][Question Description = S9_Science_Q090]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- ENG_Q91-99_L1_P2_CTET

1)



Read the passage given below and answer the question that follow by choosing the
correct/ most apprupriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards
the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and
laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes.

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

The passage describes the experience of a child who :

(1) goes to a fair in the company of his parents.

(2) was forbidden by his parents from going near the flowers.
(3) refused to be controlled by the strict behaviour of his father.
(4)

4 gets lost outside the city gates.

[Question ID = 181][Question Description = S9_English Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)



Read the passage given below and answer the question that follow by choosing the
correct/ most apprupriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards
the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and
laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes.

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

Why did the father look at the child ‘red eyed in his familiar tyrant’'s way’ ?
(1)  The child wanted everything from the shops.

(2)  The child was lost.

(3) The child’s mother was indulgent to him.

(4)

4 They were getting late for the fair.

[Question ID = 182][Question Description = S9_English Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards

the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and

laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes.

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:

“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

The mother tried to :

(1) reprimand her husband for scolding the child.
(2) divert her child’s attention.

(3) drag him.

(4) control his sobs.

[Question ID = 183][Question Description = S9_English Content/Pedagogy_Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards

the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and

laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes.

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

The child was lagging behind :
(1) as he wanted to escape his parents

(2) as he was arrested by the toys in the shops
(3) to avoid the rebuke of his father
4)

(

[Question ID = 184][Question Description = S9_English Content/Pedagogy_Q094]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

to weep in silence

3)



Read the passage given below and answer the question that follow by choosing the
correct/ most apprupriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards
the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and
laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes.

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

Which word means almost the same as “tyrant” ?
(1) Despot

(2) Dictator

(3) Oppressor

(4) Ruler

[Question ID = 185][Question Description = S9_English Content/Pedagogy_Q095]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



Read the passage given below and answer the question that follow by choosing the
correct/ most apprupriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards
the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and
laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes,

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

Find the word opposite in meaning to “sparkling’ is :

(1) Dim
(2) Dull
(3) Dark
(4) Faint

[Question ID = 186][Question Description = S9_English Content/Pedagogy_Q096]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)



Read the passage given below and answer the question that follow by choosing the
correct/ most apprupriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards
the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and
laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes,

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

“ 1 want that toy,” he pleaded. The word “pleaded” here is used as a/an :
(1) Noun

(2)  Adjective

(3) Verb

(4) Adverb

[Question ID = 187][Question Description = S9_English Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)



Read the passage given below and answer the question that follow by choosing the
correct/ most apprupriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards
the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and
laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes,

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1’, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

The family seems to be hurrying to a/the :

(I) market
(2) railway station
(3) fair

(4) relative’s house

[Question ID = 188][Question Description = S9_English Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)



Read the passage given below and answer the question that follow by choosing the
correct/ most apprupriate option :

It was the festival of spring. From the shades of narrow lanes and alleys emerged a
gaily clad humanity, thick as a crowd of bright coloured rabbits issuing from a warren
and entered the flooded sea of sparkling silver sunshine outside the city gates, sped towards
the fair. Some walked, some rode on horses, others sat, being carried in bamboo and
bullock carts. One little boy ran between his parents, legs, brimming over with life and
laughter, as the joyous, smiling morning, with its open greetings and unashamed invitations
to come away into the fields, full of flowers and songs.

“Come child, come,” called his parents, as he lagged behind, arrested by the toys in
the shops that lined the way.

He hurried towards his parents, his feet obedient to their call, his eyes still lingering
on the receding toys. As he came to where they had stopped to wait for him, he could not
suppress the desire of his heart, even though he will know the old, cold stare of refusal in
their eyes,

“I want that toy,” he pleaded.

His father looked at him red-eyed in his familiar tyrant’s way. His mother melted by
the free spirit of the day, was tender, and giving him her finger to catch said:
“Look, child, what is before you.”

The faint disgust of the child’s unfulfilled desire had hardly been quelled in the
heavy, pouting sob of a breath, ‘M-o-th-e-1, when the pleasure of what was before him
filled his eager eyes. They had left the dusty road on which they had walked so far to
wend its weary way circuitously to the north, and had entered a footpath in a field.

What does the expression ‘brimming over with life and laughter’ mean ?
(1) overflowing with joy and laughter

(2) leaving sadness behind
(3) aggressively heading towards the market
(4) filled with energy

[Question ID = 189][Question Description = S9_English Content/Pedagogy_Q099]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- ENG_Q100-105_L1_P2_CTET

1)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

Father, when he passed on
left dust

on a table full of papers,
left debts and daughters,

a bed wetting grandson,
named by chance

after him.

A house that leans

slowly through our growing
years on a bent coconut
tree in the yard.

Being the burning type

he burned properly

as before, easily

and at both ends,

left his eye coins

in the ashes that didn't
look one bit different

and some rough half-burned
spinal discs for sons

to pick gingerly

The opening stanza of the poem focuses attention on the :

(1) crazy nature of the deceased father,

(2) things left behind by the now dead father.

(3) mess the dead father had created when alive.

(4) papers concerning law suits the father had engaged himself in.

[Question ID = 190][Question Description = S9_English Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

2)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

Father, when he passed on
left dust

on a table full of papers,
left debts and daughters,

a bed wetting grandson,
named by chance

after him.

A house that leans

slowly through our growing
years on a bent coconut
tree in the yard.

Being the burning type

he burned properly

as before, easily

and at both ends,

left his eye coins

in the ashes that didn't
look one bit different

and some rough half-burned
spinal discs for sons

to pick gingerly

The condition of the house the father left behind was :
(1) surrounded by natural beauty
(2) in a bad shape
(3) that it was mortgaged
(4) both (2) and (3)
[Question ID = 191][Question Description = S9_English Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]

3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

3)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

Father, when he passed on
left dust

on a table full of papers,
left debts and daughters,

a bed wetting grandson,
named by chance

after him.

A house that leans

slowly through our growing
years on a bent coconut
tree in the yard.

Being the burning type

he burned properly

as before, easily

and at both ends,

left his eye coins

in the ashes that didn't
look one bit different

and some rough half-burned
spinal discs for sons

to pick gingerly

The expression ‘Being the burning type” suggests :
(1) angry nature of the father

(2)  very fragile physical frame

(3)  very snobbish

(4) his quarrelsome habit

[Question ID = 192][Question Description = S9_English Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

4)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

Father, when he passed on
left dust

on a table full of papers,
left debts and daughters,

a bed wetting grandson,
named by chance

after him.

A house that leans

slowly through our growing
years on a bent coconut
tree in the yard.

Being the burning type

he burned properly

as before, easily

and at both ends,

left his eye coins

in the ashes that didn't
look one bit different

and some rough half-burned
spinal discs for sons

to pick gingerly

Reference to the ‘eye coins’ tells us about the family being :
(1) very uneducated
(2) orthodox
(3) backward
(4) uncivilised
[Question ID = 193][Question Description = S9_English Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]

3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

5)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

Father, when he passed on
left dust

on a table full of papers,
left debts and daughters,

a bed wetting grandson,
named by chance

after him.

A house that leans

slowly through our growing
years on a bent coconut
tree in the yard.

Being the burning type

he burned properly

as before, easily

and at both ends,

left his eye coins

in the ashes that didn't
look one bit different

and some rough half-burned
spinal discs for sons

to pick gingerly

The grandson was :

(1) much loved

(2) a nuisance for the family

(3) mnamed by his grandfather proudly
(4) too young to go to school

[Question ID = 194][Question Description = S9_English Content/Pedagogy_Q104]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

6)



Read the passage given below and answer the question that follow by choosing the
correct/ most appropriate option :

Father, when he passed on
left dust

on a table full of papers,
left debts and daughters,

a bed wetting grandson,
named by chance

after him.

A house that leans

slowly through our growing
years on a bent coconut
tree in the yard.

Being the burning type

he burned properly

as before, easily

and at both ends,

left his eye coins

in the ashes that didn't
look one bit different

and some rough half-burned
spinal discs for sons

to pick gingerly

Being burning type

he burned properly

as before,

Identify the poetic device used in these lines :
(1)  Personification

(2) Metaphor

(3) Alliteration

@)

[Question ID = 195][Question Description = S9_English Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Imny

Topic:- ENG_Q106-120_L1_P2_CTET

1)



Given below are some language activities for classes 6 to 8, in column A. Match them with
the related language teaching principles in column B. Pick the best option.

Column A
(i)  Roleplay (a)
(ii) Summarising (b)
(iii) Guided story writing (¢)
(iv) Language Magazine (d)
(1) @-(d), (@-(c (Hl) (b) (iv)-(a)
(2) (@) (@)-(b), (iii)-(c), (iv)-(d)
(3) (i)*( ), (ii)-(d), (m) ) (iv)-(b)

4)  (@)-(b), (ii)-(a), (iii)-(d), (iv)-(c)

Column B

scaffolding

exposure to a variety of texts
Kinesthetic learning
Constructive approach

[Question ID = 196][Question Description = S9_English Content/Pedagogy_Q106]

1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

2)

(1) Project Work

(2) Pattern Practice

(3) Grammar-translation
(4) Inductive Method

Which of the following is an example of constructive approach to language learning ?

[Question ID = 197][Question Description = S9_English Content/Pedagogy_Q107]

1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3)

Given below are 4 arguments pertaining to language learning. Choose the option which
perfectly states the core argument of the Nativism school of thought.

(1) Nature has no role in language learning.

A child is born with a language learning device.

(
(3) Practice of language pattern reinforces learning.
(

4) Children learn ]anguage from their parents.

[Question ID = 198][Question Description = S9_English Content/Pedagogy_Q108]

1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)



Read the activity given below and identify which sub-skill of listening is it developing ?

The teacher reads out a poem and asks the students to look for one idea in the poem,
which is supported by all other ideas in it.

(1) Scanning for supporting details

(2)
(3) Making an inference
)

(4

[Question ID = 199][Question Description = S9_English Content/Pedagogy_Q109]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

Skimming for main idea

Making a global comprehension

®) Read the test items given below and pick the option that best identifies its purpose.

(@) Who do you think is the protagonist of the story ?

(b) Why is the author telling us his/her story ?

(c) Draw a verbal picture of the protagonist using details from the story.

(d) Give 2 reasons to justify why X is the protagonist of the story.

A B C D

identifying purpose extracting a single extracting multiple Inference
piece of information pieces of information
from the text from the text.

(1) (a)-B,(b)-A,(c)-C,(d)-D

(2)  (a)-A,(b)-B,(¢)-D,(d)-C

(3)  (@)-D,(b)-C, (c)-B,(d)-A

(4)  (a)-C,(b)-D,(c)-A.(d)-B

[Question ID = 200][Question Description = S9_English Content/Pedagogy_Q110]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6)
How does reading extensively help in acquiring correct grammatical forms in language
learning ?
(1) It helps to learn correct English consciously.
(2) It gives ample exposure in vocabulary and correct structures.
(3) It gives systematic exposure to correct language to the reader.
(4) It helps the reader to build his/her active vocabulary correctly.

[Question ID = 201][Question Description = S9_English Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]



7 : ; ;
" Ina reading comprehension question the learner has to :

(1)
(2) appreciate the beauty of the language.
3)

(

(4) find meaning in a dictionary and read.

translate in the mother tongue in the mind.

make meaning from the text.

[Question ID = 202][Question Description = S9_English Content/Pedagogy_Q112]

1. 1 [Option ID = 805]

2. 2 [Option ID = 806]

3. 3 [Option ID = 807]

4. 4 [Option ID = 808]

8)
In the hybrid system of education, a language teachers will need to have the following set
of skills. Pick the option that best describes the skills-set.
(1) computer skills-pedagogical knowledge-subject knowledge
(2) content knowledge-pedagogical knowledge-Digital competence
(3) digital competence-use online content-zoom meeting

(4) know online content-digital expertise-good internet connection

[Question ID = 203][Question Description = S9_English Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

9)

What is the advantage of the spiral curriculum on which all Indian language text books
are based? Pick the option that best answers the question.
Ideas and concepts are:

(1) arranged in a simple to complex order for ease of teaching.

(2) arranged according to school session for ease of implementation
(3) graded and continuous but allows revisiting when needed
(4) arranged according to exam pattern for proper assessment.

[Question ID = 204][Question Description = S9_English Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

"9 Pick the option that best completes the difference between learning and acquisition

learning is acquisition is
(1) reading-writing. . . listening-speaking
(

2) asystematic process. . . not a systematic process
(3) deliberate, instructional. . . spontaneous, natural
4)

( led by students . . . . led by teachers
[Question ID = 205][Question Description = S9_English Content/Pedagogy_Q115]
. 1 [Option ID = 817]

1

2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]



11)

A teacher asks the students to write about the mood and tone of a poem using textual
clues like vocabulary, imagery, literary devices used etc. Which of the following skills will
the student use ?

(1)
(2)
(3)

5]

(4)

A B C

Scanning for details Skimming for main idea Making inference
D

Global comprehension

Only ABD

Only ABC

Only ACD

Only BCD

[Question ID = 206][Question Description = S9_English Content/Pedagogy_Q116]

1
2
3.
4. 4 [Option ID = 824]

. 1 [Option ID = 821]
. 2 [Option ID = 822]

3 [Option ID = 823]

12)

Which of the following is NOT a part of second language learning skills at school ?
(1) Ability to ask questions and give response.

2) Using expressive gestures and a variety of words.

3) Imagining and expressing in words and sentences.

4)  Translating into mother tongue and vice-versa.

[Question ID = 207][Question Description = S9_English Content/Pedagogy_Q117]

1
2
3.
4. 4 [Option ID = 828]

. 1 [Option ID = 825]
. 2 [Option ID = 826]

3 [Option ID = 827]

13)

A teacher asks her students to read a paragraph silently, highlight the new words, guess
their meanings, and then look up in the dictionary. Which reading skill is she/he trying to

develop

(1) Scanning
(2) Skimming
(3) Inference
(4) Prediction

[Question ID = 208][Question Description = S9_English Content/Pedagogy_Q118]

1
2
3.
4. 4 [Option ID = 832]

. 1 [Option ID = 829]
. 2 [Option ID = 830]

3 [Option ID = 831]

14)



Analyse the errors given, made by students in class 8, and choose the appropriate action
to be taken.

Many of the students are unable to use the correct form of verbs for stating a routine
activity, past actions and expressing attitude and intentions.

(1) they are not able to understand and they should memorise the rules.
(2) they are fossilized errors and cannot be removed.

(3) they are structural errors needing more practice in correct forms.

(4) they are application errors, and will go with time.

[Question ID = 209][Question Description = S9_English Content/Pedagogy_Q119]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]

15)

Which of the following will be a more appropriate assessment of language learning at a
HOTS level ?

(1) Write a newspaper report using the verbal clues given.
(2) Complete the crossword puzzle using given the up and down clues.

(3) Your village is facing acute water shortage . Your parents travel hours to fetch water.
Make an analysis of the situation and write to the panchayat president your solution
(4) Write an article on “water shortage’ in your village.
[Question ID = 210][Question Description = S9_English Content/Pedagogy_Q120]
. 1 [Option ID = 837]
. 2 [Option ID = 838]

1
2
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

Topic:- HIN_Q121-128_L2_P2_CTET

1)
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G o] 3 T

FRITHEET 1 fohee I el 412

(1) =™ T H

(2) @ I H

(3) @ H w3 H

(4) & G H

[Question ID = 271][Question Description = S9_Hindi Content/Pedagogy_Q121]

1. 1 [Option ID = 1081]

2. 2 [Option ID = 1082]

3. 3 [Option ID = 1083]
4. 4 [Option ID = 1084]

2)



few o weriyr it sEgde ufeu qem U T wYR &7 SWX o o wes suge faswen @
G I |

s -FehTaR §19 99 o1 U B1el fohq ofcdd Teged 519 & - =10 819 | SRIASER & argE
9 ZH Y & WIS a8 YHiEeh Tl § &l &t | 2 716 =4 61 96 T80 911 F40 SR 9e & 955
3 e & TS| =16 941 90 2R 39 9 1 AW fem F1 g § 39 U <@l 9 9% 6
ol 1 9 EF 99 gUI I8 Ik St ohl Ugell dol syated off | SR Wi A FW 39 TWE o1
fop A1 H 7m (i) i F e vt 38 g § B fom e G gu =e fE R W
FYH TR | 3H favars % e off U HRo o4 | 3= S UH S 1 S0 el 92 W g
@1 91 S Ik U sl off | 39 T8 1 1 SUeRl 9 Wikt 9gE ° o1 fem ) uhg § %
Tl e wiedl | Sl g3 FA1 (e o U 519 =G & F2 9 S @R | =Ew g9 & el 3 g
STENT =S (1) R @M AR FEW §19 F gl "ugd SH e W Ugd fwen! hed
Freprenfeat = ot off | =mer 3 eyl A frerd freren fF s @ S tF Su MW R T @ e
A o 3 T

Al @ kT W BRAREREE THe 9 FHiifR

(1) & sgd gL &40 o

(2) @ e @ Ug 9 ¥4l o

(3) e Rl Tl ST ST T A1

(4) & T SESH HHR i A W S HFR

[Question ID = 272][Question Description = S9_Hindi Content/Pedagogy_Q122]

1. 1 [Option ID = 1085]

2. 2 [Option ID = 1086]

3. 3 [Option ID = 1087]
4. 4 [Option ID = 1088]

3)



feu T wrerier @Y eaIgdeR Ufgu qUT YR T U9 T 39 & fow wead sugen faswew @
A HIT |

s -FehTaR §19 99 o1 U B1el fohq ofcdd Teged 519 & - =10 819 | SRIASER & argE
9 ZH Y & WIS a8 YHiEeh Tl § &l &t | 2 716 =4 61 96 T80 911 F40 SR 9e & 955
3 e & TS| =16 941 90 2R 39 9 1 AW fem F1 g § 39 U <@l 9 9% 6
ol T3 Ga YA gL T8 Tk SieH ohl Teelt del sqafed off | 31 it Al T TH 9@ T
fop A1 H 7m (i) i F e vt 38 g § B fom e G gu =e fE R W
FYH TR | 3H favars % e off U HRo o4 | 3= S UH S 1 S0 el 92 W g
@1 91 S Ik U sl off | 39 T8 1 1 SUeRl 9 Wikt 9gE ° o1 fem ) uhg § %
Tl e wiedl | Sl g3 FA1 (e o U 519 =G & F2 9 S @R | =Ew g9 & el 3 g
STENT =S (1) R @M AR FEW §19 F gl "ugd SH e W Ugd fwen! hed
Freprenfeat = ot off | =me 3 eyl A frerd feren & s € e th glu 2w & S 4 e
A o] 3 T

HRIRER A A A6 9 = s ?

(1) <H%g

2) wd

(3) P

(4) Sl AR HA

[Question ID = 273][Question Description = S9_Hindi Content/Pedagogy_Q123]

1. 1 [Option ID = 1089]

2. 2 [Option ID = 1090]

3. 3 [Option ID = 1091]
4. 4 [Option ID = 1092]

4)



few o weriyr it sEgde ufeu qem U T wYR &7 SWX o o wes sugea fawew @
A HIT |

s -FehTaR §19 99 o1 U B1el fohq ofcdd Teged 519 & - =10 819 | SRIASER & argE
9 ZH Y & WIS a8 YHiEeh Tl § &l &t | 2 716 =4 61 96 T80 911 F40 SR 9e & 955
3 e & TS| =16 941 90 2R 39 9 1 AW fem F1 g § 39 U <@l 9 9% 6
ol T3 Ga YA gL T8 Tk SieH ohl Teelt del sqafed off | 31 it Al T TH 9@ T
fop A1 H 7m (i) i F e vt 38 g § B fom e G gu =e fE R W
SFYA TR | 3H favars % e off U RO o4 | IR S UH S 1 S0 el 92 W UgE
@1 91 S Ik U sl off | 39 T8 1 1 SUeRl 9 Wikt 9gE ° o1 fem ) uhg § %
Tl e wiedl | Sl g3 FA1 (e o U 519 =G & F2 9 S @R | =Ew g9 & el 3 g
STENT =S (1) R @M AR FEW §19 F gl "ugd SH e W Ugd fwen! hed
Freprenfeat = ot off | =me 3 eyl A frerd feren & s € e th glu 2w & S 4 e
G o 3 T

‘T e

(1) sicam-fewER g1 998 @ 8= et g

(2) SieHA-TTehIER &I §HE *I SeIfd

(3) SiSHM &Y |HE ! sl s de] HH

(4) TrPER 59 99 I Tk S

[Question ID = 274][Question Description = S9_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 1093]
2. 2 [Option ID = 1094]
3. 3 [Option ID = 1095]
4. 4 [Option ID = 1096]

5)



feu T wrerier @Y eaIgdeR Ufgu qUr YR MC U9 T I & fow wead sugen faswew @
A HIT |

s -FehTaR §19 99 o1 U B1el fohq ofcdd Teged 519 & - =10 819 | SRIASER & argE
9 ZH Y & WIS a8 YHiEeh Tl § &l &t | 2 716 =4 61 96 T80 911 F40 SR 9e & 955
3 e & TS| =16 941 90 2R 39 9 1 AW fem F1 g § 39 U <@l 9 9% 6
ol T3 Ga YA gL T8 Tk SieH ohl Teelt del sqafed off | 31 it Al T TH 9@ T
fop A1 H 7m (i) i F e vt 38 g § B fom e G gu =e fE R W
FYH TR | 3H favars % e off U HRo o4 | 3= S UH S 1 S0 el 92 W g
@1 91 S Ik U sl off | 39 T8 1 1 SUeRl 9 Wikt 9gE ° o1 fem ) uhg § %
Tl e wiedl | Sl g3 FA1 (e o U 519 =G & F2 9 S @R | =Ew g9 & el 3 g
STENT =S (1) R @M AR FEW §19 F gl "ugd SH e W Ugd fwen! hed
Freprenfeat = ot off | =mer 3 eyl A frerd freren fF s @ S tF Su MW R T @ e
G o] 3 T

TRITY % STTHR WX hal Sl Iehdl & b =& 519 o fohaid -

(1) SFSH &N eI W& 9|

2) wE-agt nafear st of

(3) SR ST =Sl Sl of |

(4) BIE-BEl 1@ ST off |

[Question ID = 275][Question Description = S9_Hindi Content/Pedagogy_Q125]

1. 1 [Option ID = 1097]

2. 2 [Option ID = 1098]

3. 3 [Option ID = 1099]
4. 4 [Option ID = 1100]

6)



feu T wrerier @Y eaIgdeR Ufgu qUT YR T U9 T 39 & fow wead sugen faswew @
A HIT |

s -FehTaR §19 99 o1 U B1el fohq ofcdd Teged 519 & - =10 819 | SRIASER & argE
9 ZH Y & WIS a8 YHiEeh Tl § &l &t | 2 716 =4 61 96 T80 911 F40 SR 9e & 955
3 e & TS| =16 941 90 2R 39 9 1 AW fem F1 g § 39 U <@l 9 9% 6
ol T3 Ga YA gL T8 Tk SieH ohl Teelt del sqafed off | 31 it Al T TH 9@ T
fop A1 H 7m (i) i F e vt 38 g § B fom e G gu =e fE R W
SFYA TR | 3H favars % e off U RO o4 | IR S UH S 1 S0 el 92 W UgE
@1 91 S Ik U sl off | 39 T8 1 1 SUeRl 9 Wikt 9gE ° o1 fem ) uhg § %
Tl e wiedl | Sl g3 FA1 (e o U 519 =G & F2 9 S @R | =Ew g9 & el 3 g
STENT =S (1) R @M AR FEW §19 F gl "ugd SH e W Ugd fwen! hed
Freprenfeat = ot off | =me 3 eyl A frerd feren & s € e th glu 2w & S 4 e
G o 3 T

‘g wes 1 JEN g B

(1) had ST

(2) HAA I

(3) SuE AR g

(4) = EY

[Question ID = 276][Question Description = S9_Hindi Content/Pedagogy_Q126]

1. 1 [Option ID = 1101]

2. 2 [Option ID = 1102]

3. 3 [Option ID = 1103]
4. 4 [Option ID = 1104]

7)



feu T wrerier @Y eaIgdeR Ufgu qUT YR T U9 T 39 & fow wead sugen faswew @
A HIT |

s -FehTaR §19 99 o1 U B1el fohq ofcdd Teged 519 & - =10 819 | SRIASER & argE
9 ZH Y & WIS a8 YHiEeh Tl § &l &t | 2 716 =4 61 96 T80 911 F40 SR 9e & 955
3 e % TS| =16 941 90 7R 39 9 1 AW fom F11 9y § 39 U @1 94 98 T
ol T3 Ga YA gL T8 Tk SieH ohl Teelt del sqafed off | 31 it Al T TH 9@ T
fop A1 H 7m (i) i F e vt 38 g § B fom e G gu =e fE R W
SFYA TR | 3H favars % e off U RO o4 | IR S UH S 1 S0 el 92 W UgE
@1 91 S Ik U sl off | 39 T8 1 1 SUeRl 9 Wikt 9gE ° o1 fem ) uhg § %
Tl e wiedl | Sl g3 FA1 (e o U 519 =G & F2 9 S @R | =Ew g9 & el 3 g
STENT =S (1) R @M AR FEW §19 F gl "ugd SH e W Ugd fwen! hed
Freprenfeat = ot off | =me 3 eyl A frerd feren & s € e th glu 2w & S 4 e
G o] 3 T

forgreror — fargres o1 3Tty & @ -

(1) FE

(2) YT =i

(3) U= S

(4) B R

[Question ID = 277][Question Description = S9_Hindi Content/Pedagogy_Q127]

1. 1 [Option ID = 1105]

2. 2 [Option ID = 1106]

3. 3 [Option ID = 1107]
4. 4 [Option ID = 1108]

8)



faw e TEryr T sargde ufew qeT UW T Y9 T I & o wed Suge fasew @
TG BT |

sicHm-fenTar 519 99g &1 U Sie1 fohq oTcdd Gagad 59 € - =16 519 | HRfHEr & afedi
7 3 519 %l @IS 92 YA alich § &l off | 32 A6 =1 1 FH AR A1 FAN SR Gl % o
g R % U @ 5 U SR 3W 7@ w1 A o FA THg | 39 T @ 9e 98 T
el ol o e Y9 U1 I8 Ik Siiad i Ueell 9] SUcied A1 | SR w ASH FH TH TWE ol
for &1 | 9 (SHihe) iR 8 Fdl WeRt 39 THg § o1 fom 91 v gu ue e fem
IV TT | 39 favars F W off U wr o | SR e TE =Sl B o T 9 Wuge
@ o S Ik AT STeTE off | 39 oE A1 ) SURRl ¥ R O | ore fom oy H
ferl o ol © el 8 1 T7ehe o U G199 o 92 W S T | e g9 o frenfadi 7 gm
eyd =S (FA) I 2@ SR =E} g9 F gl F9gE 39 TS W ues et wea
Feprenfeai = ot off | =reRy 3 sepit A e frenten o e € o6 Uk g9 91 <9 € el § Ue
A T oTE T

"Tifre o e | 99 | a1 o WEithd 9 H HiA-H1 FEE ¢ 2

(1) =l HRH

(2) O FE

(3) SUEH HH

(4) HIY HITH

[Question ID = 278][Question Description = S9_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 1109]
2. 2 [Option ID = 1110]
3. 3 [Option ID = 1111]
4. 4[Option ID = 1112]

Topic:- HIN_Q129-135_L2_P2_CTET

1)

faw o ey St eIy ufeu dem U T UIH T SN o 60 Had Sude faehew @
TIH I

RATE GEhfa ot Terd o< fosma @ & - ‘e § v’ Tufd S0 ) 1R vRa o fafie gout
o gore fim feers 2t €, a9nfu ema oTeR - faaril &1 Ul & R 98] 9e g Sahta
1 T & T <@ H e ¥ 1 I8 FRw § & o fafyeraedi % 2 gu oft ara ofedl 9
Aritfere, TSHITT U Giekoh she & &9 F favg § oo ©H 99¢ gL &) sifey ard 9
STToRaT | Uehdl o TS & S g ¥ | 39 WRdE Gpfa | swemfereran ofR sitfasar €M W fagw
@G

RdE wepfa #i fasar @ .

(1) HiEpiaer e

(2)  STeRdl H Wahdl

(3) WeRdl H kAl

(4) SER-faard s fye



[Question ID = 279][Question Description = S9_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 1113]
2. 2 [Option ID = 1114]
3. 3 [Option ID = 1115]
4. 4 [Option ID = 1116]

2)

faw T ey T vy Ufer AUt YW T YA T I o G0 Had UG fased @
S I

ReTg Hiapfa o Terd a2t fosivar W@ & - ‘e § ushar’ 9afa F98 91 ) e & fafiem wewl
o yaie firma fewr 2t €, aenfy e19+ 3TER - fa=Ri i uwar % SR FE 9e1 g St
1 TF E Y @ F oo #1198 ww € fR o fafiemmedi % @ gu off vra 9fedl |
siiviferes, TsHifos s wieFfas soE & €9 § favg # o9 @F 99T gu ®) sHifoy wRa H
el § Uehdl & a1 € 29 g E | 39 WRAIA Hepla ¥ anenfersnar iR sifaerar SHT w1 fasm
@

‘Tl SOl AR W Ra % fafve yeu o gt fosan foard 2dt &1 oo 9 A @ .

(1) e 8 seqe: qof fermar &

(2) ura H forsran foeper off 2 &
(3) 9Ra H fiE werE i 59 S 7
(4) 9RA H Tor 9did gl @

[Question ID = 280][Question Description = S9_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 1117]
2. 2 [Option ID = 1118]
3. 3 [Option ID = 1119]
4. 4 [Option ID = 1120]

3)

few T ey T LAIgde UfeT GO U T UIH T IO o 60 Had U faehed @
I I

R Geepfa ot Ted ot foda @ € - srear F whar’ Taft F9d 9 9% vra * fafie wae
T yara fiem foes 2t €, a9nfu ema oT=R - fa=ril &t Ul & SR 98l 9e1 9T ki
&1 T B T <@ H e 1 7@ s § R o fafiemell % @ gu o are |l |
sdiiiferes, TsHifos e wicpfas s & w9 4§ fava & e @ s9C ge ©) sHifon wra o
Sl H Uehdl & Hel & g9 g & | 39 WRdIa el § snemnferean v siifaerar SHT @ fagm
@EI

AT Hepfa § aftagm § .
(1)  neAfcasrar a1 JRliaskar =

(2)  lifaesdr e Il 1

(3)  smemfererar qen sitfaskar s

(4) USTHIfG q°n HEhfd

[Question ID = 281][Question Description = S9_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 1121]
2. 2 [Option ID = 1122]



3. 3 [Option ID = 1123]
4. 4 [Option ID = 1124]

4)

few T meryr it LAY Ufer GO U T UIH T ST o 60 Had Sude fashew @
G it |

AT TRt i Terd Fe) fadma @ & - s § v’ Juft 93 O w= aia F fafve weei
T wore i feer 2t €, a9nfu oma oT=R - fa=ri &t Ul & SR 98l 9e1 9T SRt
1 T B T <@ H e 81 7@ s § R o fafiemell % @ gu o a9l |
sitviiferer, Terifos ud giekfos e & ®9 H favg & o9 M s9T §U ¥ sHifey vRa o
o1 ¥ Uehell % el & g9 gUE | 39 WA Wl H snenferehar i sitfishan S o fagm
®WE

qrIfsrr Hepfa ST UHET O F0 § .
(1) =T=R - fo=ari & qHEd
2) Tafv= ygel =1 fa= dw6fd

2)
(3) T siriiferes faRiwarstl H o
(4)  SRYET AU WE-TH I FHET

[Question ID = 282][Question Description = S9_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 1125]
2. 2 [Option ID = 1126]
3. 3 [Option ID = 1127]
4. 4 [Option ID = 1128]

5)

few T ey T LAIgEe UfT AT U T WIH T ST o 60 Hod Suge faehed @
T I

IS S i Teri et farsman W@ & - ¢ srvehan § wehar’ gafd 93 9 W ke F fafie geei
o yaie femn fowr 36t @, qenfu s sman - fa=ard 1 ushal 3 R0 Fe He1 grarfes gepfa
1 T ¢ B9 <@ H e 1 78 wnw € R o fafemedl % @9 gu o ara afedl |
siiviiferes, TeHifos e wiepfas sE & €9 4 favg # 29 ©F 99T gu ¥ sHifon wRa §
el § Uehdl % Hel & 29 g €1 39 9Rdra depfa § enenfassar v ifaear SHT @ fasm
@I

e § go v a9 I §
(1) o + ek
(2) 4rie + 3
(3) T + ¥
(4) T+

[Question ID = 283][Question Description = S9_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 1129]
2. 2 [Option ID = 1130]
3. 3 [Option ID = 1131]
4. 4[Option ID = 1132]



6)

few T ey St LAY UfET dOT U T YIH T I o 60 Had S0 faehew @
T I

T Tt T T i @ ¥ - ¢ or § T T S AR R RE ¥ e e
o gare i foer 2t €, aunfy o oTeR — fa=ril it uehdal & SR 98l 9e1 grrfee Sahfa
%1 T B T <@ H e 81 7@ wnw § R o fafiemell % g gu o e afedl |
sdiiferes, Terifas e wienEfas e & w0 H favg § oo ©m 99 g 81 sEifen ara o
STl B Uehell % el & 99 gU ¥ | 39 WRdTE Heptd § snemferendr oiw sitfisnd S o fagor
@/EI

‘oA H ud’ § areed ® .
(1) Tu=ranedi @ amasg ekl g

(2) W HEA H T Al

(3) @ USY B o &SNS Th B
(4) S YU UH HAF B |

[Question ID = 284][Question Description = S9_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 1133]
2. 2 [Option ID = 1134]
3. 3 [Option ID = 1135]
4. 4 [Option ID = 1136]

7)

faw T ey T vy Ufer dUT YW T YA T I o G0 Had Iugad fased @
I T |

A Gt it ged ot fodwar @ € - ¢ srear & wshar’ Tafd 9l d 92 vra # fafie wewi
o yaie fimra fewr &t €, qenfh a1+ 3= - fa=Ri i uwdar % SR 9el 9e1 g Skt
1 TF & €Y @ F oo #1198 wrw € fR o fafiemmedi % @ gu off vra 9fedl |
siiviferes, TeHifos s wiepfas sE & €9 § favg # o9 @F 99T gu &) sHifo wra ®
el § Uehdl & T € 29 g E | 39 WRAIA Hepla § anenfersar iR siifierar SHT w1 fasm
®E

q9e ¥ fim © .
(1) fafsm ugw

(2) =t foreroa

(3) AER-fe=R

(4) wRAr P

[Question ID = 285][Question Description = S9_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 1137]
2. 2 [Option ID = 1138]
3. 3 [Option ID = 1139]
4. 4 [Option ID = 1140]

Topic:- HIN_Q136-150_L2_P2_CTET

1)



FAF Y &1 ! THan L @ 9 5 faenfeli = fusel far wfaq = snanf seifsa s =6y
fdfafs | = Hia? 35 fou 381 ag= S H == o1 SESE (411 98 99 #1 Feanl ?

(1)  forme

(2) HEATHF ITH
(3)

(4) R

[Question ID = 286][Question Description = S9_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 1141]
2. 2 [Option ID = 1142]
3. 3 [Option ID = 1143]
4. 4[Option ID = 1144]

D o 7S ST N E ?

(1) o e % oo afess =1 qd fefsa &=

2) Wk 1 TET WA STl 9T R Seld foan T R

3) U UHT ST forEd SreareTen § us | sifuss iy Hiwe e @
4) TG YK S F=e 1 U 6] H YA F F Hih 7l §

[Question ID = 287][Question Description = S9_Hindi Content/Pedagogy_Q137]
1. 1 [Option ID = 1145]
2. 2 [Option ID = 1146]
3. 3 [Option ID = 1147]
4. 4 [Option ID = 1148]

(
(
(

Y R W A ved wst % foe sl 2
(1) wfeF gfafafe

(2) wiEss =1 fagr
(3) el =7 T T
(4) YAl HTA

[Question ID = 288][Question Description = S9_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 1149]
2. 2 [Option ID = 1150]
3. 3 [Option ID = 1151]
4. 4 [Option ID = 1152]

4)

Tafe () SRS % i = HE 8 § 2

(1) &R, s, o

(2) =t e (SER-FeE w1 9F), 9T

(3) TR, T, T

(4) &R, o, WY

[Question ID = 289][Question Description = S9_Hindi Content/Pedagogy_Q139]
1. 1 [Option ID = 1153]

2. 2 [Option ID = 1154]

3. 3 [Option ID = 1155]
4. 4 [Option ID = 1156]



5)

e STfereR far & WY SR S @ 7, U ° e gee & el ofr gl o fare At o6 vee
AW © | 39Y Fferent s 1 @y faet ?

(1) fafaa = gfea gl % ufq serees

(2) HeRd YTl SRR

(3)  SAT=RY HeH SRl

(4) =AU SRRl

[Question ID = 290][Question Description = S9_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 1157]
2. 2 [Option ID = 1158]
3. 3 [Option ID = 1159]
4. 4 [Option ID = 1160]

6)

e AT Torsl Ye Tfafate & ®9 § F |l <d1 € 1 3 T o= o fhd qR § #1g i ?
(1) == e < fash

(2) el e =1 faenme

(3) HEEryfa #1 fowm

(4) =Tl 9&1 o feaeRre

[Question ID = 291][Question Description = S9_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 1161]
2. 2 [Option ID = 1162]
3. 3 [Option ID = 1163]
4. 4 [Option ID = 1164]

" Freferfea 3 4 #H-T1 SR W # HR T 2
(1) == 9 78 o o foF d & =7 =0y o vey =i §
(2) o= T TF | Ted B
(3) ==a 7 ¥ 9 o o ster foran =1 wfafiue #d €
(4) == 39 % |y rel-favst e died §

1[Q1Lx?;titgn |Ig =12196§]][Question Description = S9_Hindi Content/Pedagogy_Q142]

2. 2 [Option ID = 1166]

3. 3 [Option ID = 1167]
4. 4 [Option ID = 1168]

Y g TR R g E e ?
(1) oI o Sl i 9g=H
(2) S9gH AR F1 9gEH
(3) G- e ferm gr
(4) TS AR oiEA

[Question ID = 293][Question Description = S9_Hindi Content/Pedagogy_Q143]
1. 1 [Option ID = 1169]
2. 2 [Option ID = 1170]



3. 3 [Option ID = 1171]
4. 4 [Option ID = 1172]

9)
FHeql 4 H UST I T &g ALATE ok forU HAlUF ST Te@ 1 BRI 2
(1) ==dl %1 =€ Fa foF e 57 Ty § AR 5o sAfeer =1 % 9o, FT At
(2) == | Fe fF Iee-qaie 1 U Al i uel T8 " ok STIER 3fEd wE | e
(3) w=dl § e for & Fiey voe w9 @ U, U8 MU STese & g W U sgee fad s v
1 1 2 T
(4) ThanH fou M arel 99l | fHerd-Serd TeAi & 3 A
1[Q1u<[acs)titc.>n |Ig =1213:]][Question Description = S9_Hindi Content/Pedagogy_Q144]
2. 2 [Option ID = 1174]

3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176]

10)
e reTfueht erqe forenfd o wue W S arelt aga o fafafear sand €, S fe-gmee,
[ ufiErsH, I i #fife Aedrfedi & Wy 39 T8 &I nfafaftud] +i s feas grn 1 7

(1) feme

(2) AR
(3) SAWICHhI
(4) fors

[Question ID = 295][Question Description = S9_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4. 4 [Option ID = 1180]

" frfafE § @ ST THETR SE 9 SeRE £ 2

(1) SIgar

(2) AT o

(3) feuuil srEA (A AfF)
(4) fouu &

[Question ID = 296][Question Description = S9_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 1181]
2. 2 [Option ID = 1182]
3. 3 [Option ID = 1183]
4. 4 [Option ID = 1184]

12)



fernfefl =01 sexd & T 3 foam famgsll W A dym i, seifsra &6, areor oo &, Tare &
R 39 w19 F S, I8 wim fF Hefaa € 2

(1)
(2)
(3)
(4)

I A
A hivTe
T iy
TR FTe

[Question ID = 297][Question Description = S9_Hindi Content/Pedagogy_Q147]
1. 1 [Option ID = 1185]
2. 2 [Option ID = 1186]
3. 3 [Option ID = 1187]
4. 4[Option ID = 1188]

13)

reqiyeRt o9 faenfelal &1 us ured 9l W9 9 4 ved o foru wedl 1 38 faend} =1 o
YRR 1 fAd <1 =fey 7

(1)
(2)
(3)
(4)

Afg Uaq % SWH HIE Ves Hicd ol o1 SIATIF & UE S

u greg) # o1 wWedl H wme o Wy % wWy U

rgd Gt H et snefues qedl W fad e S i

<ter ifa | v SiR fou ¢ wma § ued qu w9 & 9 a9e A 9 R 8

[Question ID = 298][Question Description = S9_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 1189]
2. 2 [Option ID = 1190]
3. 3 [Option ID = 1191]
4. 4 [Option ID = 1192]

14)

o sreATaes fernfelei 9 wedl ¥ fon diomshrei Steenmen o S Wi AR S e o g |
T HiEH & fau sia-+ waifes suge nfafafy g ?

(1)
(2)
(3)
(4)

stirsft # = g 6 fore e e

el | YaTE SR "l JArT U 2 e s

319 =R 1 9 ¥ a7q7 faEni i aifrersa e & faw gefa
AT Y F T A hiEd e, T THR & 928 W &1 7 5

[Question ID = 299][Question Description = S9_Hindi Content/Pedagogy_Q149]
. 1 [Option ID = 1193]

1

2. 2 [Option ID = 1194]
3. 3 [Option ID = 1195]
4. 4 [Option ID = 1196]



") e SRR T S T SrE R o faehrd R e ¥ 2
(1) =ifyew T T frde SR veg Hir ST
(2) FTF g for@ U i Ok o o gER o % for gEme S
(3) =t fomamae ¥ fawa &1 fdw 3
(4) FaeT S Tt W fasga gy T

[Q:n[egtitqn ||[|; =13;(;3]][Question Description = S9_Hindi Content/Pedagogy_Q150]

. 2 [Option ID = 1198]

1
2
3. 3 [Option ID = 1199]
4. 4 [Option ID = 1200]






